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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt Five questions in all, selecting any three from Section A and any two

from Section B.

3. All questions carry equal marks.

4. Answers may be written either in English or in Hindi; but the same medium should
be used throughout the paper. ' )

BEl & fow FEm

I N WE-T @ fed & IR Ry FeiRa o w s sgwae folaw o

2. A U Y @ S ARTY, i U5 W@UE A ¥ IR DAy @us F A |

3 @Rty & FF TR

4. TEYF-TT H I N A1 fFE R v s § A, AfeT ot ST o e o

& B Wk |

SECTION A (@Us )

1. “Each person possesses an inviolability founded on justice that even the welfare

of society as a whole cannot override. For this reason justice denies that the loss
of freedom for some is made right by a greater good shared by others. It does
not allow that the sacrifices imposed on a few are outweighed by the larger sum

of advantages enjoyed by many” — Rawls, A Theory of Justice
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This statement reflects Rawls’ opposition to which well known ethical doctrine ?
Elaborate your answer with the main points Rawls makes against this theory.
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2. “The choice which rational men would make in this hypothetical situation of equal

liberty, assuming for the present that this choice problem has a solution, determines
the principles of justice.” — Rawls, A Theory of Justice

Which hypothetical situation is being referred to here ? Examine Rawls’ views on
the same.
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3. “For us the primary subject of justice is the basic structure of society, or more
exactly, the way in which the major social institutions distribute fundamental rights
and duties and determine the division of advantages from social cooperation. By
the major institutions I understand the political constitution and the principal
economic and social arrangements.” — Rawls, A Theory of Justice.

Elucidate the concept of “Justice as Fairness” with particular reference to the
above statement.

“gAR fore =ma o w@ faw vt @ g gt 2 fRveR @ <R W e e wed
fre yar wiferr SR qur wdal o oo ot ¥ R wEnfoe @san ¥ W

.o




1459 3

Iyl T e hY T 2 | W AR sl ¥ W At aerife S
3R e i T nnforn srEens A 217

IRFT HUA & [T gof | ‘I & W H 9’ N FURIT F A FIT |

4. According to Rawls it is possible to apply either the efficiency principle or the
difference principle to the method by which rights and duties are assigned in
society and to the method by which social or economic inequalities are structured.
However Rawls gives preference to the difference principle over the efficiency
principle. Discuss his reasons for doing so in the context of the second principle
of justice.

Tw B FAER <e g iR i ferg, 39 3§ 3 f5d % e =t S Rty .
R AN B e 2 R g) e § afERl vE adell @ oot B # ok
AT A1 S JEHIST ol afeu R W 2 1 Wy Aow qern Rera 9t Wi
e fera A TR 39 21 e @ @ R & 9t A 39 3w @ w R
i = T |

5. Critically examine Rawls’ two principles of justice. Why is he so confident that
when applied to society these two principles of justice will not lead to a “callous
meritocratic society” ?
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6. Contrast the Rawlsian theory of justice with Utilitarianism and Intuitionism.
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SECTION B (@vs «)

7. Analyze the reasons given by Dworkin to support his belief that a government
must take seriously the rights of individuals.
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Hart believes that having a natural right to be free implies having the moral
justification for limiting the freedom of another person. Discuss how Hart supports
this thesis with the help of the notions of Special and General Rights.
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Evaluate Bernard Williams’ idea of Equality with special emphasis on the aspect
of “equality in unequal circumstances”. ' '
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Elucidate Andre Beteille’s views on the relationship between social equality and
individualism in the context of Indian culture.
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